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ZHAH| Z57| g
=" 103 105 107
50 2.0 2.0 2.0
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T1 N-m 3.9 7 14
T2 N-m 12 25 48
T3 N-m 34 43 54
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X10*N+m/rad 1.1 1.8 3.5
K2 N-m/arc min 35 5.5 10.3
50 X10*°N-m/rad 1.2 1.9 3.5
K3 N-m/arc min 44 7.1 12.0
X10*N+m/rad 1.5 24 4.1
61 arc min 1.2 1.3 1.4
62 arc min 3.5 4.6 4.7
63 arc min 7.7 6.1 4.5
T3 Nem 56 74 82
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X10°N-m/rad 13 2.3 4.0
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80 X10*N+m/rad 14 25 43
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63 arc min 18.1 14.4 9.9
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m m N N
103 0.0547 0.01835 9000 18300 105 1300 1590 10.1 294
105 0.0630 0.01900 12900 19700 159 1700 1590 14.5 42.2
107 0.0720 0.01945 18100 30400 219 2050 3000 20.3 59.1
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@ Thrust 55 Pa Pro: 512 Radial 5= (N) (A11-1)
Pas 22— (N (AD) Pa: & Thrust 5 (N)
fersi
° Pao: 512 Thrust 515 (N) (A11-2)
L=l O = A Al -
) Radial 5153} Thrust 5150| 2E3= A2 Le:5tS #IxI Al (H11-3)
. C: A A$ (Al11-4)
Prels | P > CroFa =1 (A) i
Pro Pao Fsi: SHAS (A111-5)
H11-1 &2 Radial 515 Pro(N)
2k 7| S U= 3T r/min
4000 3000 2500 2000 1750 1500 1000 750 600
103 198 218 232 250 261 275 315 347 373
105 218 240 255 275 288 303 346 381 411
107 238 262 278 300 314 330 378 416 448
H11-2 &2 Thrust 5I& Pap(N)
ola 3R /mi
17| B & 3| ™= r/min
4000 3000 2500 2000 1750 1500 1000 750 600
103 169 191 207 228 242 259 308 349 385
105 186 210 228 250 266 284 339 384 424
107 212 240 260 283 303 324 387 439 483

Z) 1.2425| &4 600r/min 0|5t2] | Radial 5t%, 5| Thrust 552 600r/min 2 ZH&L|C}.
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Proooo: &3 3|&<4= 2000r/min®l ZAL2| 5| Radial 5t&

L 47| dH
(mm) 103 105 107
5 1.01 0.99 097
10 113 1.10 1.07
15 1.25 121 1.18
20 137 132 1.28
25 1.49 143 139
30 161 154 149
35 173 1.65 1.60
40 - - 1.70
L=12 Tl 46 55 6.6
(mm)
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agh2-19] 27 miE el Ao At
trenaeTa B 4 oo Ta 3 tnenaeTa 193 1
OmA Bt EqT = ANATTA R*NR*TR B°Ne* T
tasna +tReNR +tg*Np
oy - ta*na+ trReNR+tg*n
O H? &3 5|Hengo= RT R
ZE 2™ F7|=102 YLt
—O " YHSML ng=neoR
R:Z&H|
Mo
5t712] Abofl CHaHA, ECY-107-50 S AP&(0ll4}) 5H0] &1 ShLCt,
— (AIY)  Ta:71= ™X| Alel D)3 E3 80N+-m tas7tE A|ZE
TR By 2 A E3 30N m tr: B 2T A2
T "X Al EZ 60N-m tg: & A|Zt
£4 ET: 160N-m tpi BX| AlZH
na 7tZSA| B3 &3 3184 25r/min to: 2 A2t
nr: Y2 &4 3 50r/min T: 28 F7|
ng:Z4&A W £ 3|1 ™E 25r/min &%= Radial 515 :
o4y 10000h Z|) 2ot ZHE

(A4

-]

A&719] ME0 A0M SZ0| 72 gictn St

3 558D To- <0.3-25~8010/3+ 3+50+30'%403-25-60'"

0325

+3-50+0.3:25

ECY-107-50HT 25 E3 AHZ2 E8-10M  Tae=55(N-m)
=40 (N-m) =<55(N-m) 0|22 ECY-107-50 & 7H{K) MH

Z|7 U4F 34 nmax = 5050 = 2500 (r/min)

O gAZte] =2

40

o|Ate| AEO| et ECY-107-50 7t MBEIC}

1146

WP 52 8FA o= 0o 20T 37'20 0325 _ 55 9(r/min)
T A 3|4 ng =22.9-50 = 1146 (r/min)

O 21 & 3|™L9| M3 2500 (r/min) = 6500 (r/min)

O " U™ 31840 #2 1146 (/min) = 2000 (r/min)

O 712 MxAe T2 E3 #3T 80N-m) <98(N-m)
OZ2Ad EZ9 H3 160(N-m) =186(N-m)

O D&% Radial 552 #M3 100(N) =361(N) (Lf, Cf, Fs1=1)

O &2 BHES H3 150(N-m) =219(N-m)
O 512 Radial 3t&2] #3 500 (N) <2050 (N)
O Z Hlo& 49 %3 36334 (h) = 10000 (h) (fy=1.2)
O M oby A2 80165215

ECY-107-502] M E3= HES10M Tog=39(N-m)

10/3
ABIAIZF Lo = 7000 - <39> : <2°00

> =11433 (h) =10000 (h)

0.3s

3.0s
0.3s

3.6s

3.6s

7.2s
100N
150N-m
500N

0.3
> =40(N-m)

P6 (8-1)
P6 (8-1)
P6 (H8-1)
P6 (#8-1)
P12(E11-1)
P10 (&10-1)
P10 (&10-1)
P10(&10-2)
P10 (310-3)
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UH M=(22,7/10)) Zol= 2= C E AIS HIZL|CH
= 2B, 7lo|A =E0l= U2 A E AL HIZLICH

381341

EE0 o5t 518 MY E3
Z&7(0 &8 U UHEE EER st ZRe EE A, Mo|= Y MA EIE H13-10] 7| ict,
St ol mf E13-12| 518 &7t 2| EIE MYE = JSLICL
H13-1
E=HER A&
a&7| ¥ =2 PCD EE H& E3 EEo0 o5t 518 MY E3
A+ Afo|= mm N-m kgf-cm N-m kgf-cm
103 16-M3 48.0 1.96 20 163 17
105 16-M3 55.5 1.96 20 189 19
107 16-M4 63.0 461 47 374 38
ARA 228 HZH
#&7| gH = PCD EE XHZ Ea EEo0| 23t 518 MY E3
A4 ALO|= mm N-m kgf-cm N-m kgf-cm
103 16-M3 68.0 1.96 20 232 24
105 16-M3 78.0 1.96 20 266 27
107 16-M4 875 461 47 520 53
BA naae
Z47| "H 2E PCD ZE MZ E3 =Eo0 oI5t 518 MY E3
ZH4 ALO|= mm N-m kgf-cm N-m kgf-cm
103 6-M2 22 0.55 5.6 14 14
105 8-M2 24 0.55 5.6 20 2.0
107 6-M3 30 1.96 20.0 45 5.0
@ =EE:  SZLFHEE JISB1176 ZE 721292 EEE AIE HIEIL|CE.
@ EE E2 WX : HEM|(EEI0E 2628)22, HAl 2AZZM(UISB 12522 F) 2 A HIELICH
I, AEE A Me 2E AAH(ER)S EF UXIE 26 824 7Y 2EE Al AZFYo| AKBE H1 ot
@ OHEH7%~:0.15



2| I 7|efe] ¢ MR(E2,7I0)E &

(e12 ©)

2| 7Y (=g SHE)ol| HX|Q EHES SEEE
(212 ®)
B} — F) .47 MR8 EE=, UEA 7Ho HA
F) 2.2| HH (& EHE)| HX|e| EHES
SR A (P18~20&Z) 0l ZAISH & 2
O Ay O ME|EE FASIALY A THA
aE13-4
13-4. 2
2 Z47|= (FNIPPECO HGO-3 No.00 & S835t0 &ststm USLICH
Ja|Aaol matk2, 2FAIZH20000 AlZH =, 3~5 Hofl 15| HAISHH FAHAIR
H13-2
ZrA
2147] B 103 105 (Z+<:H] 50,80 / 100) 107
mL g mL g mL
d2|A 8 14/10 16/12 16 18

g

H|S 0.87g/mLE

i
2
iz
|m
fu
kl
0
o
C
o

E3 (B13-1&X)2 HZ "ighct,
EZ MX|E Aole, 2E Zo|7}, AYE9|

H13-3 O2|A A

A o HGO-3

7293 HHMER(EER)
E=H|(thickener)| 2| EH| 5

I UL S
Z= No. No.00

FE (25°0) 400~430

2| EH A
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MHx|E HA, AEE= EX|of 2R XFEIS EFFML.
(cSUMAMTA], M7 |MH|7|&7|&E, WM, SEUEX|E, HSI|EHS)
AL FZHBME EH S2F, HIEJ AZSH =M
FZHEBEAII eiS B0l ThoiEo|LE At 2F 5t AL
FZHHME BEA =B MEE= D2 ATNK| EHSIEE 5 FMR
At2etd ¥ o st 422 MES] FML.
QIS ERL SZER| S 4E2 DEof ofst o1 = MH|o| Scist 40| dEEl= EXlo ML= HR, X
Z0| AXS 2ol ESEXIE HXIsH FML.
- ZEEL7| X|Holl=, WEA MotorE ALEsH FML, E HEA Motor= HEA0 HEst AL MotorE A28 FMIL.
- 400VE QIHE{0|A MotorE TEsh= AR, 2IHE|Z0| suppressor fillterL} reactorS M X|5t7{LI MotorE0|AM HHE
dalst AS MEsl FML.
AR, 2SRUEE, S5l 7IS7IE 7lulstE EXloME, IE - SHS2E 0t 20| Aj7{Lt J2|A =0 thH|5to]
7| 80| §9 &SHUXIHXIE MR FML2

Sumitomo Drive Technologies
Always on the Move
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M27|eggat TEL: (02) 730—0151~4 FAX: (02) 730—0156
2ely|E
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